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SSC CGL Mains Mega Quiz (Quant)

1.
%‘ind the maximum possible value of sec?8 + cos?8.
sec’8 + cos?8 &I HEhdH THAT Hed ddisy
(@) 17/4
(b)2
(c) can not be determined/ RerTfa A&t fFFam ST FFaT 8
(d) 1974

Q2. What is the value of [sin (y—-2z) +sin (y +z) + 2 siny]/[sin (X—-2) +sin (X +z) + 2sin X]?
[sin (y - 2) +sin (y + 2) + 2 sin y]/[sin (X —2) +sin (X + z) + 2 sin x] T AT 7T FL

(a) cosxsiny

(b) (siny)/(sin x)

(c)sinz

(d)sinxtany

Q3. What is the value of {[sin (X +y) — 2 sin X + sin (X —y)]/[cos (x-Y) + cos (X +y) — 2 cos X]} % [(sin
10x —sin 8x)/(cos 10x + cos 8x)]?

{[sin (x+y)-2sinx+sin (x-y)]/[cos (x-Yy) + cos (X +Yy) — 2 cos x]} x [(sin 10x — sin 8x)/(cos 10x
+ €0s 8x)] T HTT AT L

(@0

(b) tan2 x

©1

(d) 2 tan x

Q4. If asec B=x and b tan 6=y, then how are x and y connected withaand b ?
% a sec O=x 3T b tan B=y, AT x 3T y, a 3T b ¥ e T Teafea &2

(a) a2y — bzyz = a2p2
(b) b2x2 — szz — 42K

(c) %" +b%y? = a%b? SSC CGL TIER-II
b2x? + aly? = a’h?
< PRIME

Q5. What is the value of [(sin x + siny) (sin X — sin y)]/[(cosx +
cosy) (cosy - cosx)]?

[(sin x + sin y) (sin X — sin y)]/[(cosX + cosy) (COSy — COSX)] T EEER RN At A A e
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Q6.

Find the maximum value of 3sin> & + 4cos* ¢
3sin® ¢ + 4 cos? ¢ & AHfHdH Hed FT 47
(@5

(b)4

(©3

@1

Q7. What is the value of [(tan 50 + tan 30)/4 cos 40 (tan 50 — tan 30)]?
[(tan 56 + tan 30)/4 cos 40 (tan 56 — tan 30)] FT AT T F<

(a) sin 26

(b) cos 26

(c)tan 46

(d) cot 26

Q8. AB is a vertical pole with end B on the ground and C is middle-point of AB. P is a point on the
ground level. The portion AC subtends an angle g at P. If BP = nAB, then the value of tan B is

AB FEate 1w § ForasT @i B SHi9 9X § i C, AB &7 #eg-fag g1 P -a 9X U fig &1 91 AC, PUR T
T B AT g1 T BP = nAB, T tan B T AT T H

a ni+1
(@)

(b) n®+1 addazy
n & o testseries

SSC CGL 2019
TIER-I
Q9.

IftanB = %and{] <8< ;and 25xsin® Beos B = tan® 8,

(€) 2n2+1
Zn

(d) 2n®+1

with Video Solutions

then the value of x is

afe tanB =§3-ﬂ?ﬂ <0< 531‘}'{ 25x sin” B cos B = tan® 6, 10 Full Length Mocks
ar x & AT AT &L

(a) 7/64

(b) 9/64

(c) 3/64

(d) 5/64

Q10. A Navy captain going away from a lighthouse at the speed of 4[(+/3) - 1] m/s. He observes
that it takes him 1 minute to change the angle of elevation of the top of the lighthouse from 60°to
45°. What is the height (in metres) of the lighthouse?

T AT F FAM 4[(\/3) - 1] m / s ¥ TfF F werrerea s I g2 A7 Q@ &1 98 I@ar § 7 gawre s F off &
I HIT AT 60 °F 45° T T34 | 39 1 [0 &7 G977 F0aT g1 THRIAETT it FATS, (WX 7) 77 §?

(a) 240V3

(b) 480[(V3) - 1]

(c) 3603

(d) 2802
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Q11.
1 1

What is the value of 5in®(90—8) + [cosZ(90-8)]-1 ’

1 1 Eh_.i_
sin*(90-8) [cos2(90—-8)]-1 ol - e Tt
(a) tan2 B sec2 6
(b) sec* 0
(c) tan* @
(d) tan2 0 sin2 0

Q12.

Ifsin® + sin® 8 +sin®* B8 = 1,

then cos® B -4 cos* 8 + Bcos® B =7
gfe sin@ +sin 8 +sin®0 = 1,

ar cos®0-4cos*B+ 8cos?h =7
@2
(b)3
(c)4
(d)o

Q13.What is the value of [tan (90 - A) + cot (90 — A)]2/[2 sec? (90 - 2A)]?
[tan (90 — A) + cot (90 — A)]2/[2 sec? (90 — 2A)] =T AT AT FL'

(@0

1

()2
(d)-1

Q14.What is the value of {sin (90 - x) cos [t — (x—-Yy)]} + {cos (90 — x) sin [m - (y —X)]}?
{sin (90 - x) cos [1— (x—y)]} + {cos (90 —x) sin [ — (y — X)]} FT ATT ATT F

(a) —cosy

(b) =siny

(c) cos x

(d)tany

Q15. The angles of elevation of the top of a tower from the points P & Q at distances of ‘a’ & ‘b’
respectively from the base of the tower and in the same straight line with it are complementary.

Find the distance between top of tower and Q(if a’b) -
TIAT & YT T ST dTef @1 &/ e 'a' i b’ F IR P& QF
et & Ta =fa< & ofts &7 I9aT AT TF €. A & A sk Q F i+

g 1w e (7% 2b) - SSC CGL TIER-II

ENGLISH

(a)\."ab +1

) a*(b* + 1) BOOKS KIT

©) Vb(a+1) Ace - Advance Maths | Arithmetic Maths
E .y oy English | 20+ SSC CGL Tier Il 2015-18

(d) & Previous Years' Papers Book
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Q16. What is the value of sin (B-C) cos (A-D) +sin (A-B) cos (C-D) +sin (C-A) cos (B-D)?
sin (B-C) cos (A -D) +sin (A-B) cos (C-D) +sin (C-A) cos (B - D) T AT FTq &<

(a) 3/2

(b)-3

(©1

(d)0

Q17.

{[4 cos(90—A4) sin3{91}+A]]—}
[4 sin(90+A4) cos3(90-4)] 9
180+84
5( 2 )

(a1
(b)-1
(©0
(d) 2

Q18.Find the maximum and minimum value of 8 cos A+ 15sin A+ 15
8 cos A+ 15 sin A + 15 T =AdH 3T ATAHAH AT FTT FiX

(a) 30,8

(b) 32,-2

(c) 23,8

(d) 1142+15, 15

Q19. What is the value of cos [(180 - 0)/2] cos [(180 - 96)/2] + sin [(180 - 30)/2] sin [(180 —
130)/2]?

cos [(180 - 0)/2] cos [(180 —908)/2] + sin [(180 - 36)/2] sin [(180 - 130)/2] T ATT 4T §?

(a) sin 20 sin 46

(b) cos 26 cos 66

(c) sin 26 sin 66

(d) cos 26 cos 46

Q20. A balloon leaves from a point P rises at a uniform speed. After 6 minutes, an observer
situated at a distance of 450+/3 metres from point P observes

that angle of elevation of the balloon is 60°. Assume that point ENGLISH

of observation and point P are on the same level. What is the
speed (in m/s) of the balloon?

T g P & OF e UF qA A & fReerar 81 6 fme ¥ e, fig

SSC PUBLICATION

P & 4504/3 e ff &t v Rug ww wdaers T@ar § & e &

SHAT FIT 60° 1 AT A & sraenra fog sk g P o9 ®X W) §)

TR &Y T (M / s &) 7T 82 PRIME

(a) 4.25 SSC CGL | CPO | CHSL & Others
(b) 3.75

(c)45 7 Printed Books

(d) 3.45
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Q21. A man sets out to cycle from A to B, and at the same time another man starts from B to cycle

1
and

to A. After passing each other they complete their journey in %
rate does the second man cycle if the first cycle 8 km per hour?

TF ARE A & B T&F A1sfahdd 9a1 & forg Feerar €, 3 SHt 9079 TF X et B & A 9% 9 & oY 4«

EATS I TE A IR FA F AR rer: 339 45 He H STOAT ITAT I A 3| TfS agAr =tw 8 faet wfa
=T | ATShet FATAT g1 AT A AT Foher 3T 9= T foher =<Tar 872

(@) 2% km/h

(b) 6% km/h

(c) 3% km/h

(d) 5% km/h

4
*S hours respectively. At what

Q22. A car can cover a certain distance in 4 %2 h. If the speed is increased by 5 km/hr, it would take
1% h less to cover the same distance. Find the slower speed of the car.

T et U A3 T 4 Yo 5 /a7 Fdt 8, se I 5 Y / wieT a& @7 <1 ATt €, aF a8 St g ¥ e
U FH T T FA(, HIC AT iy wfq sy,

(a) 50 km/hr

(b) 40 km/hr

(c) 45 km/hr

(d) 60 km/hr

Q23. A boat moves downstream at the rate of 1 km in 7.5 minutes and upstream at the rate of 5
km an hour. Find the speed of boat in still water.

T Atar 7 Vo e ® 1 .l &t =19 & 9T & g St € sk 1 ' | 5 et ff =rer 7 sy F wiaae
SITT . TR St & witanr i =ver fowaet gf?

(a) 8.5 km/h

(b) 6.5 km/h

(c) 7.00 km/h

(d) 8.00 km/h

Q24. A car travelling at an average speed of 72 km/hr takes 9 minutes to travel a certain distance.
By how much should it increase its speed (in km/hr) to travel the same distance in 8 minutes?
72 et [ wieT Y Si|a T F AT T qTA FIL R E [T @ a7 w1 | 9 e w1 997 AT 81 8
e & g @ a3 w3 % o saeht wfe (Rt / st #) et sreeft =R
a)8
9
(c)7
(d)6

Q25. Train A takes 1 hour more than train B to travel a distance ?eds'tjsaei:g
of 720 km. Due to engine trouble speed of train B falls by a & S

third, so it takes 3 hours more than Train A to complete the
same journey? What is the speed of Train A (in km/hr)? SSC CGL 20]9

T AT 720 fft it o T w9 F Forg 39 B ¥ 1 <R orfers ww wmar TIER-I

g1 S &I GHET & FIO ¢ B Fi I 7w fAgre we arh g, s\

o0t AT B T T F 3 B BT A & 3 5% fo e e 8237 A
(Feft / sreT ) &Y e /T @2 with Video Solutions
Eg; E93)(3) 10 Full Length Mocks

(c) 60

BILINGUAL

(d) 70
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Q26. Two cars A and B travel from one city to another city, at speeds of 60 km/hr and 108 km/hr
respectively. If car B takes 2 hours lesser time than car A for the journey, then what is the distance
(in km) between the two cities?

J FTC A 3T B TF U8 & TEX T, FAM: 60 FheT / =er 3iix 108 et / wier &Y i & 7= #°ccht §1 aft #
B ATAT & forT w1k A it ToFT | 2 He 7 TR At &, ¥ QT A8 & o= st 1 (et #/) = 82

(a) 240

(b) 270

(c) 300

(d) 330

Q27. Water is flowing at the rate of 5 km/hr through a pipe of diameter 14 cm into a rectangular
tank which is 50 m long and 44 m wide. Determine the time in which the level of water in the tank
will rise by 7 cm (take m=22/7).

9Tt 5 T¥Y / ST Y 3T T 14 I AT F UTST o ATEAT F T AIAATRE S § 9g TGT g ST 50 Hiex &« 3%
44 HaT AET | 98 THT TAT4 G & T T T &< 7 T 98 ST (= 22/7 )

(@21h

(b)2.0h

(c)25h

(d)2.2h

Q28. A train travelled 75% of the way from town X to town Y by travelling for A hours at an
average speed of B kmph. The train travels at an average speed of S kmph for the remaining part
of the journey. Which of the following expressions represents the average speed of the entire
journey?
T o7 o B o1/ et & sftea i & A =i amaT % X U8< ¥ Y U8 a9 75% &Y ¥ ATST Fh1 37 AT ITAT
¥ forg S fReifeeT #t sftea ifa & am=T w<ar 81 B 8 & a9 & afvsae o am=m & g i #7
At w<ar 82
(a) 0-75B +0.25
(4BS)

(b) (35+B)

AB
(c) =5
(d) 0.75A + 0.258

Q29. A man riding a cycle at 12 km/hr can reach a town in 4 hours 30 minute. If he delayed by 1
hr. 30 min at the start, then in order to reach his destination in time he should ride with a speed
of:

12 oY / et 9= AT e 9= 9t uE AreHT 4 52 30 AW B UF 98 9% UET 99l gl SN 98 T
1 =& 30 famre &t T Far g, T o1 viqsy 9% a9 ax qg=q & forg seeht i gt it =nfgu?

(a) 15 km/hr

(b) 16 km/hr

(c) 18 km/hr

(d) 20 km/hr

Q30. Two men are running in the same direction with a speed of 6 km per hour and 7 ¥2 km per
hour. A train running in the same direction crosses them in 5 sec and 5 ¥2 sec respectively. The
length and the speed of the train are respectively.

T AT 6 T afa ST s 7 %2 et wid wie &t wrfer & oy wa & e & 91 | &1 St e § == et
TSR FAM: 5 AFS X 5% e | U HLAT gl &7 i A«TS S I HA9T: Fha=iv gl

(a) 22.92 m (approximately) and 22 km/hr. /22.92 "t (a71s71) 3 22 3y / =er

(b) 22 m (approximately) and 22.5 km/hr. /22 Hta¥ (FRTHRT) 37% 22.5 foFdfT / =ar

(c) 22.90 m (approximately) and 20.5 km/hr/22.90 T2 (379 ) ¥ 20.5 T / =ar

(d) 22.92 m (approximately) and 22.5 km/hr./ 22.92 He< (FRT4T) 3f¥ 22.5 3y / =ar
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